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abundance

- - ” === PROCESSING PARRMETERS =-==
i g - de_balance : 0 : FALSE
o o FexXp : 2.0[Hz] : 0.0[s]
= a trapezoid3 : O[%] : 80[%] : 100[%]
& } serefill & 1
£f£t : 1 : TRUE : TROE
\HHHZ > machinephase
F ] Ppm
-
7
Field ctrength = 14.09636928[T] {600[M
“wO X_acq duration = 0.55205016 [s]
X demain = 13C
X fragq = 150.91343035 [MHz]
¥ offsat = 100 [ppm]
X poinks = 32768
X prascans =4
= X recalution = 1.4d496109 [Hz]
= K sweap = 47.34848465 [kKHz]
Irr daomain = 1H
Irr freq = §00.1723046 [MHz]
Irr offset = 5[ppm]
Clippad = PRLSE
Inccoplate copy = TROE
Mod_raturn -1
Scang = 47
Total escans = 47
=,
i X 90 _width = 10,5 [us]
X acq time = 0.69206016 [c]
X angle = 30 [deq]
X atn = 7.45[4B]
X pulce = 3.5 [us]
Irr_atn_dec = 18,793 [4B]
Irr_atn noe = 20.34784 [dB]
Irr noise = WALTZ
Deccupling = TROE
Initial wait = 1[s]
How = TRUE
Hoe_time = 2[s]
Relaxation delay = 2[s]
Repetition time = 2.69206016[e)
Solvent = CHLOROPORM-I
Spin_action = ZPIN O
Zpin_ctats - SPIN oM
Spin_etatue = SPIN O
= Spin_get = 14 [Hz]
= Bpin pet - 15[Hz]
Spin gas souree = AIR
Sampla_action = LOADED
Sample state = LOAD
Sample statue = LOADED
Changer_sample -0
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abundance

==== PROCESSING PARAMETERS ====

de balance : 4 : FALSE
Fexp : 2.0[Hz] : 0.0[s]
trapezoid3 : O[%] : S0[%] : 100[%]
zerefill & 1
i ££t : 1 : TRUE : TROE
= machinaphase
Dpm
o}
Ay
vl
3k
Field strength = 14.096365268 [T] {600 [M
X_acq duratiom = 0.69206016[s)
X _demain = 130
X frag = 150.9134303% [MHz]
¥ offsat = 100 [ppm]
X poinks = 32768
X prescans =4
X racolution = 1.44496109 [Hz]
X _swaap = 47.34648465 [kHz]
. Irr domain = 1H
e Irr freq = §00.1723046 [MHz]
Irr offset = 5[ppm]
Clippad = TROE
Incomplete copy = TROE
Mod raturn -1
Scang = 14426
Total scang = 14426
T X 90 _width = 10.5 [us]
- X_acg_time = 0.69206016 [c]
i angle = 30 [deq]
X atn = 7.46 [dB]
¥ _pulce = 3.5[us]
Irr_atn_dec = 18,793 [4B]
Irr_atn_nos = 20.34784 [dB]
Irr noise = WALTZ
Deccupling = TROE
Initial waik = 1[s]
1 How = TROE
& tos_time = 2[s5]
Relaxation delay = 2[s]
Repetition time = 2.69206016[e)
Solvent = CHLOROPORM-T
Spin_action = ZPIN O
Spin_state = SPIN ON
Spin_etatue = SPIN O
Spin_get = 13 [Hz]
Epin et - 15[Hz]
b=, Spin gas soures = RAIR
Sampla_action = LORDED
Sample state = LGRD
Sample statue = LGADED
Changer sample - 0
_; 4 | N
Tr 77T LRI R AL LR LR RRRE AR T Ty T T T Tr I LR TR BB R | LI
220.0 21000 NS..H 190.0 1500 1700 160.0 _me_u\_ﬁﬂ:— ﬂuﬂ.e>ﬁ.c :._u.o 1000 90.0 uoy...o.o 600 50,0 4.0 uoo> 200 100 o 100 200
= e -
g ag z 52 33
5 Az & - e
o= = e -]
m H M = Ll el o o

X : parts per Million = 13C
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de balance : @ 1
pexp : 2.0[Hz] :

trapezoid3 : 0[%]

zerefill & 1

£f£t : 1 : TRUE :
machinaphase
ppm

Field estrength
X_acq_duration
X domain

X fraq
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X points

X prescans

X racolution
X sweap

Irr domain

Irr freq

Irr offset
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Incomplete copy
Mod_raturn
Scang
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X 20 _width

X _acg_time

X angle

X atn

X pulea
Irr_atn_dec
Irr_atn_noe

Irr noise
Deccupling
Initial waik
Now

Yos_time
Relaxation delay
Repetition time
Solvent
Spin_actiecn
Zpin_ctate
Spin_etatue
Spin get
Spin_cat

Spin gas source
Sample_action
Sample state
Sample statue
Changer_sample

- PROCESSING PARRMETERS -
FALSE
0.0[s]

= 80[%] : 100[%]

TROE

14.096369268 [T] {600 [M
0.69206016 [s]

13c

150.51343038 [MHz]

4
1. 44496109 [Hz]
47,3484 8485 [kKHz]
1H

£00.1723046 [MHz]
S lppm]

PRLSE

TRUE

1
4883
4883

10.5 [us]
0.59206016 []
30 [degl

7.46 [4B]

3.5 [uc]
18.793 [dE]
20.34784 [dB]
WALTZ

TRUE

1[=]

TRUE

2[s]

2[s]
2.69206016 [e]
DME0-TE
SPIN 08
SPIN OM
SPIN 08

15 [Hz]

18 [Hz]
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==== PROCESSING PARAMETERS ====

de balance : 0 : FALSE
FexXp : 2.0[Hz] : 0.0[s]
trapezoid3 : O[%] : S0[%] : 100[%]
zerefill & 1

CO0H fft : 1 : TRUE : TRUE
machinaphase

w_\j. ppamn
04N z:of\@‘
Field strength = 14.09636828 [T] {600 [M
X_acq duratiom = 0.69206016[s)
X _demain = 130
X fragq = 150.91343035 [MHz]
¥ offsat = 100 [ppm]
X points = 32768
X _prescans =4
X rocalution = 1.4d495109 [Hz]
X swaap = 47.34648465 [kHz]
Irr_damain = 1H
Irr freq = §00.1723046 [MHz]
Irr offset = 5[ppm]
Clippad = PALSE
Mod return =1
Scane - 548
Tetal ecane = 548
X _90_width = 10.5[us]
X acq time = 0.59206016 [8)
X angla = 30 [dag]
X atn = 7.46 [4B]
X pulee = 3.5[us]
Irr_atn_dec = 18,793 [4B]
Irr_atn_noe = 20.34784 [4B]
Irr noise = WALTZ
Deccupling = TROE
Initial waik = 1[s]
Yoo = TROE
Hoe time = 1[g]
Relaxation delay = 2[s]
Repetition time = 2.69206016[e]
Solvent = DMB0-DE
Spin_action = SPIN ON
Spin_gtate = 3PIN ON
Spin_status = SPIN ON
Spin_get = 17 [Hz]
Spin_pat = 15 [Hz]
Spin_gas_courcs = AIR
Sample action = LOADED
Sampla_state = LOAD
Sample statue = LOADED
Changer sample = O
N O | | _
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X : parts per Million = 13C
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de balance : & 1
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£f£t : 1 : TRUE :
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- PROCESSING PARAMETERS -

FALSE
0.0[s]

= 80[%] : 100[%]

TROE

14.09635928 [T] {600 [M
0.69206016 [s]

13c

150.51343038 [MHz]

100 [ppm]
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47,3484 8485 [kHz]
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18.793 [dB]
20.34784 [4B]
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